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Analytic Geometry
3" g Weeks Review

meaHB= S
msBHC=_ (o]
mZDHE=_15

mZGHF = 2%

mZLCHE = H&
mZFHE= |3
msFHD= |57

2) Brittany is walking home from school. She is
walking down Maple towards Qak. When she

1) Find the indicated angle measures using the picture to the right.

reaches the end of Maple, she will continue on to

Pine. What is the measure of the turn she-make
from Maple on to Pine? CfDJf 55':

Use the diagram for questions 4 - 15. AB // CD and are cut by transversal EF.

MName: IZ”E'\"

Date: '

Period:

3) The maze below has two intersecting sets of
parallel paths, A mouse makes five turns in the
maze to get a piece of cheese. Follow the
mouse’s path through the maze. What are the
degrees at each turn?

Zl =no

£2=(20 J@
T g 7
G/

, (! -[m:.
/
&-"\_

/ T
=20 !

! Al

\:,%E msl=_[3S 5}n1£5=|'73§
B oms2=_H4S mse=_45
sims3=_4S mcen 0D
D
What type of angles are the following:
10) Z1& Z8 h'uﬂ',@ﬁ 1) z282s8 _GS EX
12) L2826 ﬁ!:ﬂgﬁmg&‘ﬁi 13y L1&ZS Cow&%po‘kel;f&\
14)  Z£38& 45 SST 15) Z3& 6 At In °
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16) Given: BC = Dd; ZCBD = ZADR
Prove: ABCD = ADAB c D
Statements Reasons
1) BC = DA; £CBD = £ADB 1) (5 ven
== ~3 m—
2) BD = BD 2) Reflexive Property 8 A
3) ABCD = ADAB 3) S H’S
17)  Given: Zl= £2, DH bisects ZBDF D
Prove: ABDH = AFDH
Statements Reasons H
= — .
1) £1= L7 Di b &7 | 1) Given .
2) KE:D“ ¥ <FDA 2) Definition of an Angle Bisector
3) DH = DH 3 Relexrt
r~ ~ -
a_LPDH= A rDH g ASA
: : : B c
18) Given: ZA is supplementary to £B; ZA is supplementary to 2D
Prove: ABCD is a parallelogram
Statements Reasons
% A D
1) LA s Supp EB, ZA 1 5%upet ) Given
2) F"% 1 D C 2) If same-side int. angles are supplementary, then lines are parallel
3) BC (| AD 3) If same-side int. angles are supplementary, then lines are parallel
a) PECO isa pavallel * Y 4) Definition of a parallelogram
19) If AABC is an isosceles triangle, find the 20) In an isosceles triangle, the vertex angle is
indicated measures. B 2 less than 5 times the measure of the base
angles. Find the measure of all the angles.
" Tx-2=(20
= -1 : -
<A M zlYLl
10 "
“C=_|§ b ¢ N x:2b
AR PP
lels
-0 ANse XA =2t 2%
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Determine whether the following triangles are congruent. If yes, write a congruency statement and justify your answer
(SSS, SAS, ASA, AAS)

21) ﬂF}B 22) SKSS 23) N.C_z
E G

A E
G J L M
L H

0 D L F
F is the midpoint of DH

D
M N
24) < iﬁc) 25) PJ'F‘DS
SV 1 RT; V isthe midpoint of RT L
s D 9 E
T0°
50° J
M 5 N g

26) Translate ABCD 5 units to the left and 6 units 27) Reflect figure JKLM over the line x = 1,

Up, T<-5,6>, Re=1.
3 g ¢ X1
] - L] :'5" Jm ]
* n . A }
=y - L | 3 s M L
_ \ ¢ : L
D c

29) Translate the figure right 4 and up 3 and then

28) Rotate AXYZ 270" clockwise about
rotate 90°, T<4,3>=r(30°, Q).

the origin, r(270%0).

\£. ‘](%, Z\ i - | S
] }/‘ {5.'7) % 2 ’j.h'_i:-;
26 2) s S~
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30) Name the point of concurrency that goes with each special segment.

Median - ﬂD_i‘leD | C&

Perpendicular Bisector -

O voancerdey

Tald9.C10 4

Angle Bisector -

Atitude - DEHND CQanCV

segments were constructed? C A R nd

32) Where could the incenter of a triangle be located?

[nsld< :m,i..?_.

33) Which point of concurrency is equidistance from the vertices of a triangle?

croumender

34) If point M is the centroid, find each of the indicated measures.

M=_1|

AM=_%9®
MEs - I
T e
Cha - 2M

31) If the point of concurrency is located on the midpeint of the hypotenuse of a right triangle, which special

BM =22; AE=57; DM =8

2x=9%

of x.

B
35) If E is an altitude, find the value of x.
Lx-=]90
36) If BDisa median, find the value
2x-8 L2 =
AT5iZ2 p 23 C D11 = X453
3x = 1S
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